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2 H It 36.8 0.5 29.9 0.0 IKRBDkEREHOT- 5 [ 44 21.3 8 o s
o . f IS . 4.1| <0.83
2850 # f;.g g.; 22.6 0.0  JRIHDikdr % i O3 b 36 20. 8 53 18| <0.62 ig' Z(v)
i . . 16.0 0.0, JR 72D Bk A ' '
o " Lo 52 o0 S Yo G 30, 26.5 43 5.6| <0.42 <€0.75
= . JR 73 Dk % iy OV 3 b 23 25. 4] 30
5H7H It 12.2 0.5 11.1 0.0, B % VR 20 0D # ik F3 >100 ‘ e oo
6/ 13H It 17.7 0. 6 12.5 0.0 B % VR 70 0D # ik ® >100 o o ol e oo
Sl " i 7.1 <1 0.1| <0.67
u o _— 108 A ;g.z 2.3 13.2 0.0, JK IO ik e >100 6. 6) 4 1.8 <0.66 ig' g(l)
i ) 4 115 0.0 R0 ik m ; : - :
9/ 4H 2 20.1 0.2 17.2 0.0, B % VR 20 0D # ik ® :gg o ; I o
11221 2 7.8 0.3 7.8 0.0 B 2% WK 20 0 ik I >100 Zg ; R oo
. e 2 s 5.5 L8 i . 4 2.5| <0.56 <0.55
. . . 0.0 R B0 ek i '
% 5 10H I 26.5 0.3 15.4 0.0, B 2% WK 20 0 i I :gg o 5 ol oo
" i e R 8 15H 2 27.4 0.3 21.8 0.0 B % VR 70 0D # ik ® 72 o ; il o
* 11A11A It 13.5 0.2 13.0 0. 0| B 2 WK 600 8 70 % OV ik ® I ; ol e o
hﬁ o o %5 o2 2.0 5.0 BN = - 50, 9.4 3 4.2| <0.69 €0.71
| e o . i >100 11.1 1 0.6| <0.73
— i 28.6 0.2 18.3 0.0| 15 VIRA DA EH O | M >100 10. 1 5 oo
6/ 13H It 25.3 0. 4 17.2 0.0 B 2% VR 20 0 ik [ >100 8‘ ool o me o
Sl " 2.3 : it .9 2 0.8| <0.76 <0. 66
" P JA98 2 2L.0 .3 16. 8 0.0| 115 VIRA DA EH O | M >100 9.0) 3 2.0| <0.87 <0. 94
& . 0.2 22.7 0.0| 15 VIRA DA EH O | M 75 9.6 7 2 '
9H4H B 26.5 0.2 19.9 0.0[ B2 W K40 BT ‘ e o
. KRB Dk e OV 8| A8 >100 9.2 5 1
11A11A 2 15.2 0.2 13.3 0.0, B % VR 20 0D # ik 66, 9‘ oo o
AL 2 =2 %2 2.3 i .8 3 1.9[ <0.69 €0.71
. . . 0. 0| B %\ K A D HOZ '
B VIR B DS & B O 8 >100 11.5 <1 0.3] <0.70 <0.92
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PRI W
FLHA *x Bl K — R IE B —
Yo. i Ho AT Bl | w [xm [war 7 T \ A EUIR K (Bo/L)
c) m X B %%ﬁ% FECET RS B Wk & o 2
519 B _ em) | @S/m) | (mg/L) [ () Cs—134 .
‘ A & 19. 8 Lo 1n 0.0 RHBOfkHEHOT e w50 5 - s Cs-137
44 % 2 FL)I| TG & T 8H28H & 24.3 0.9 23.5 0.0|  Kposkma RO e © - L1 <0.74 €0.61
UALH| B 16.6 0.2 166 0.0 W5 KB D " 1 g 2.2 <0.68 <0.80
E— 1A21A [ 11.0 0.2 6.8 0.0 A e 2100 2.3 18 7.1] <€0.86 <0.61
= : : - k7 2 i OV 3 bid 66]  40.7 6 3.4
5H10H [} 22.1 0.4 14.2 0.0 e ! i oo . . <0.61 <0. 89
15 BERE Azt 815 & 33.6 0.4 216 0.0 1 % IR 200 Bk m >100) j ; 1; ol s 0.5
UALE| & 13.4 0.2  13.0 0 ’ : 1.0} <0.89 <0.85
& . . . .0 1% R 2 0 i 1 :
— E FaZE 1H6H It 11. 0 0.2 7.4 0.0 Eﬂfﬂ/‘%#@ﬁg ﬂ :gg 8.0 4 1.4] <0.75 <0.71
5100 P 2 9.2 < 0.2| <0.91
e Tﬁ i . SH15H ai 28.8 0.3 21.6 0.0| A VKB ORAEE O ® 5100 o0 . el e <0. 55
il * it ikt HilA=rh - BRI i 31.4 0.3 25.1 0.0 B 2 VR B DR E B0 | M 5100 9.4 o : = <0.85
K 11A11H £ 13.4 0.3 13. VK . : 2.1 <0.65 <0. 67
% 0 0.0| P15 WVIKH Ok B O 8| >100 8.6
— 1 1/21H I 8.2 0.3 5.1 0.0l w5 % o - 2 0.8 <0.57 0. 54
Hon i 0 P m—— - WIRBOfFH BT >100] 118 < 0.3| <0.61 <0.70
£ . . . 0.0, JK IO ik 1 : :
47 01| ] fik 8A28H | W 26.5 0.9 255 0.0 WE SR 2200 S m o e 17 1) <0.88 <0.67
11H9H Hif 18. 8 1.0 17.9 0.0 IR 7D Hikk ;; = =2 Z L7} <0.68 €0.80
| A2l s o8 o o o m#mﬁ& . 37 43.3 13 8.5| <0.75 <0.71
5H9 " - - ™) 25 38.5 16 10| <0.81
- A & 18.8 Lol 182 0.0|  KAORERZ MO 1 72| 60.5 12 7 o
18 I SO G iR - gl | SAZSE | 2 26.5 L1 251 0.0 WV R 700 B m 69 - -6 <0.89 <0.74
11190 [ 18.7 L2 187 0.0 UK 20D ik I 75 23‘ . 0 5.1y <0.82 <088
1A21H I 11.1 12| 1000 0 : -3 23 11| <0.67 <0.61
KRB ik i 70, 73.2 8 3.5 <0.42 <0.55
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N R
RRER o | | e R AT AR (e ()]
. o h - SN I o | W [TEm | weE . o FLEALR (%) ARE] BE | o0 T & 2 - %
(C) (cm) A | sy | MRSy | MR | hRbay | MWy [Tov b Kitar | (%) (g/cn®) Cs-134 Cs-137 At

51127H [ 29.2 0.4 8.9] 7 it [ 0.0 28.0] 1.9 IR 1.7 1.0 s3] 266 W .4 e 1.8 78]
. - 8H2H i 315 0.2 22.0] 7 i i 0.0| 0.9 29.6| 618 3.8 0.6 2.3 68.9] 2.668] .2 32 + 3.4 32
) 122 | BE 8.5 0.5 10.5 5 it " 0.0 0.0 1.1 689 8.2 10| 3.0 70.9]  2.676] ® .2 26 * 3.7 26
146A i 2.0| 0.2 5.9 5 ) i 15| 4.9 19.0 7.3 2.1 0.0 0.9 s3.1| 2.660 - | <38 19 = 2.5 19
| 5/ 14H S 22.0) 0.3 10.3 5 WAy —7 I3 0.0 0.9 1.6l 587 20.7 2.1 3.8 a0 2723 W .6 18 = 2.6 18
FRI 6719H 2 27.8| 0.3 18] 6| WAy —7 i 0.0/ 30.6] 1.3 374  1L3 0.0 18| 780 2.787) W | <42 16+ 2.6 16
TH3H [ 25.5 0.2 13.0] 5 WAy —7 I3 0.0  24.7 29.9]  10.6 0.4 0.0 0.4 829 2.695| BE-® | <35 17 * 2.0 17
2 A BHE HAR ey 8H16H i 29. 6| 0.2 19.4] 5 WAy —7 i 0.0/ 39.9] 18.6] 123 0.6 0.0 0.9 sLo| 269 E-@| 3 e 2.7 11
9 11H [ 28.7 0.3 143 5 KAY—7 I 0.0 30.2 19.3 9.9 2.9 0.3 Lol so.1 2651 B [ <56 15 * 2.2 15
1A2A [ 10.0 0.5 9.3 5 =S " 0.0| 2.0 40.3|  41.6 3.7 0.1 2.6 73.5| 2.683] W .1 24 = 3.7 24
|| 146H [ 6.1 0.2 6.9 5 WAy —7 I 0.0 0.1 0.1 68.0 17.0] L7 2.3 7146 2662 W 6.4 [T 2.2 14
5A14H 2 3.3 0.2 10.8] 5 AU =7 0.0| 1.3 1.9l L1 14.2 5.7 3.2|  eo.6| 2650 5 15+ 2.6 15
5 Sl i 8116 H [ . 0| 0.2 23.9] 5 PR 0.0| 0.0 2.7 617 263 2.8 3.4 e8| 2641 W 5 13 * 3.3 13
nA2A|[ & 10.1 0.2 8. 0| 5 IR 8 0.0 0.4 31.8]  58.2 2.6 0.1 2.9 725 2.683] W 6.4 7.6+ 2.5 7.6
|| 146H [ 7.2 0.2 1.2 5 FU—71 0.0 L1 4.7 435 2.1 0.1 2.8 727 2661 W 3.6 1.7 * L2 1.7
5HTH i 11.4 0.3 8.2 3 IR #18 0.0/ 343 16.7 7.5 0.9 0.1 Lol 709  2.739| - | <63 69 = 4.8 69
61191 [ . 8| 0.2 13.0] 6| FU—71 0.0 24.9] 18.7 L7 0.2 0.2 0.6 80.5| 2.693 B | 6.0 61+ 1.8 61
TH3H 2 3.8 0.2 15.0] 5 AU =7 0.0  26.7 22.2|  19.2 1.3 0.1 0.8 77.9] 2.809| #E-b | <8 59 = .7 59
4 23l Rty ()15 8J12H [ 8 0.3 19.2 7 V=7 0.0 35.8 18.7 16. 9| 2. 6| 0.1 L1 79.2|  2.878| - 3.9 = 11 59 * 3.1 62.9
9A11H i X 0.2 178 5 TR 3 0.0/ 143 25.4|  15.8 3.6 0.7 0.9 820 2764 - | <54 53 = 4.1 53
nA2H| # 10.0) 0.2 6.6 5 PR 0.0 412 16.8 5.1 0.6 0.0 0.7 751 2775 BE-® | 3 62+ 1.5 62
1A7R 2 4.5 0.2 3.5 5 TR 3 0.0 65.2 4.5 0.7 0.1 0.1 0.3 850 2672 EE-@| <63 40 = 3.8 40
| | # R 5/30H [ 20.0 0.3 10.0] 5 FU—71 2.3 19.7 19.9]  38.0 1.7 0.7 Lol 7a1| 2685 @@ [ <G8 9.7 * 2.7 9.7
i *? *? - . 8H16H 2 23. 6| 0.3 20.8] 5 TR 3 18| 33.4 20.1 214 0.9 0.1 13| 79.2|  2.693) - | <64 8.2 + 2.7 8.2
I - Jﬂ! Jﬂ! Mo Aff St LI19H | BE 10.0) 0.2 9.4 5 PR 0.0| 0.0 185  58.7 173 L1 2.9 72.8] 2657 W .7 18 = 3.1 18
EAR' 1A7R I 1.2 0.2 2.0 5 AU =7 0.0 217 . 17.8] 28,9 6.7 0.1 2.2 784 2.656] W 5.5 5.1 & 17 5.7
| 51301 [ 25.5 0.2 14.8] 5 KAY—7 0.0 10.0] 19| 3.00 5.1 216 0.9 2.6 73.4]  2.806] W 3.7 6.6 + L7 6.6
6/ 14H i 24.4] 0.2 172 5 RAY—7 0.0/ 23.9] 7.4 71 483 106 0.7 200 75.6] 2747 W | <0 5.1 & 1.2 5.7
TH5H S 22.8] 0.3 16.1 5 [N ) 0.0 L1 0.8 3.1 s0.7| s 240 7.3 6Lo|  zee2| @ .3 20 * 3.0 20
6] RN P4 8H16H [} 27.4 0.4 20.5 5 KA Y —F 0.0) 2.6) 0.9) 2.3 39.8) 33. 4 15. 8| 5.2 68.0  2.665( W 8.0 20 = 3.8 20,
sl 9A13H S 19.1 0.2 176 1 WAy —7 0.0 0.0 0.0 2.3 a4 389 7.1 1.4 1.3 2mielw-on k| e 0 * 2.3 10
1A9A [ i 14.8 0.3 114 5 KA —7 0.0 0.0 0.1 12| esz 283 18] 34| 7ie|  zel| W .2 7.4 = 18] 7.4
|| - 1A7H [ 1.3 0.3 3.0 5 KAY—7 0.0 0.3 L2 2.2 358 535 L7 5.4 716 2710 W .1 7.6+ 2.0 7.6
5A14H 2 21.0) 0.3 13.5 5 IR 8 0.0 6.4 2.1 79| sLe| 244 3.3 4.4 1i9| 2910 W .8 22 * 2.8 22
6J119H [ 25.3 0.5 16.0] 5 PR 6.2 638 161 7.0 5.4 0.6 0.4 0.5 80.3] o6l BE-@ | <l 8.7 * 18| 8.7
TH3H 2 26. 4] 0.3 16.9] 5 TR 3 0.0 313 ezl s 215 5.0 0.5 4| e8| zoozr|  EE .3 19 = 3.0 19
7 T 8H16H [ 314 0.5  25.3 5 PR 0.0| 0.5 3.3 13| el 140 0.6 3.2 70.9] 2859 W 6.5 29 * 1.0 29
9A11H i 30.2 0.2 19.6] 5 L) 0.0| 0.4 2.0 sl 708 110 1.6) 2.3 650 2741 W 6.4 28 = 3.3 28
A28 [ & 6.5 0.5| 1L5 5 PR 0.0| 5.4 168 237 443 7.8 0.3 Lol 785 so120| B[ <69 8.0 * 2.2 8.0
1A7R 2 6.2 0.5 6.0 5 TR 3 0.0 1zool 19l 1m7[ 404 10.3 0.1 2.6 sL4| 3018 W .1 13+ 1.9) 13
| 551230 [ 25.2 0.5 18.0] 6| ) 0.0 0.0 0.2 9.7 7.8 115 L5 2.3 7114|2808 W 3.0 1.4 * L1 1.4
o _— - f— 8A26H i 21.7 0.2 177 5 L) 0.0 0.0 0.0 0.1 s.2|  5L0| 333 7.4 se.3| 26l W 6.8 13+ 2.6 13
1250 | BE 15.9) 0.3 1L7 5 ) 0.0 0.0 0.0 0.0/ 155 6.3 129 5.3 69.2] 2.736 W .4 7.9 * 2.1 7.9
1HITH i 4.0 0.4 3.4 5 L) 0.0 0.0 0.0 0.1 8.9 59.6| 227 8.6 6l.2 268 5.6 15+ 2.6 15
| 551230 [ 19.8 0.4 12.8] 8| [N ) 0.0 0.5 152 420 367 2.3 0.9 2.4 69.7]  2.766] W 3.6 7.0 * L5 7.0
o — Wk i T 8A26H I 21.3 0.2 181 5 [N ) 0.0 0.0 0.1 0.3 60.4] 363 0.1 2.8 722 2818 W .7 8.7 + 2.0 8.7
1250 | BE 14.7 0.2 122 5 [N ) 0.0 2.0 5.5 19.6] 550 134 10| 3.6 7L2| 27nif W .4 6.4 * 2.1 6.4
IHITH [ 3.8 0.3 5.6 7 AU =T 0.0| 0.3 1.6) 9.6 580 257 1.0) 3.7 75| 2910 W 3.0 4.9 + 11 4.9
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N R
RRER R | — e . — FATERRRTE [ou/ i) -
No. K, s, [— C) (m) zl?:_vjm FRIEER @ - _ ”’r\ifﬁfﬂiﬁi(/o) _ _ _ ﬁil’/n%l ng PSR T v A _ ]
©) (em) HEsy | ey | AR | RISy | hebdy | Ry (S R RSy | (%) | (g/en®) Cs-134 Cs-137 &3
551140 2 20.5 0.2 155 5 #® 0.0] 7.3 18.6] 38 1.8 0.8 2.1 78] 276w 3.8 6.0 * L5 6.0
65191 [ 26.3 0.3 20.2 8 " 0.0 1ol 14l 3 2.0 0.0 2.1 77.6|  2.698] W@ [ a2 4.4 * 1.4] 4.4
TH3H S 27.3 0.2] 208 5 " 0.0| 0.0| 0.4 6. 8.4 16| 2.3 L1 2693 W <9 143 = 0.1 1.3
10) aH) HU T =) 8H16H 2 26.2 0.2 21.9 5 i 0.0) 11. 6| 20. 1 36. 3.3 1.3 2.0) 75. 1 2.696) W 3.3 3.9 = 1.2 3.9
9 11H 2 32.4 0.2] 256 5 " 0.0| 2.9 170 3L 5.4 0.1 2.3 759 2793 W 2.3 1.0 = 0.98 1.0
1250 | B 18.7 0.2 12.4] 5 " 0.0 348 116l 13 2.8 0.6 5| 77.0]  2.857 BEew | <26 4.7 * L1 4.7
1116H [ 2.1 0.2 4.2 5 " 0.0| 9.8 153 38 3.3 L1 L8| 769 2819 B [ <3 5.5 + L3 5.5
| 5A15H [ 23.3 0.2 183 5 " 0.0/ 366 227 14 3.4 0.6 el 78| 2792 mew [ <3 13 2.5 13
" e [~ - 8116 H [ 29.4 0.3 22.9 5 " 0.0 405 19.2[ 11 8.2 19| 2.1 7144 o.s8f BE-® | s 16+ 2.9 16
1250 | B 18. 0| 0.3 131 5 IR #18 i o0 2raf  s3s[  s0. L5 1.4] L8| 725 2645 g | <1 4 = 3.4 14
1116H [ 4.8] 0.3 1.2 5 [N " 0.0| 8.9] 7.8 2L 9.1 L3 2.8 7Lo| o.7se| W@ | < [T 2.2 14
| 5A14H [ 22.6 0.3 19.1 5 ) 0.0 5186 7.3 7. 12.1 3.1 2.7 629 2707 BE-w | 6.9 14 = 2.8 14
61191 [ 24.8 0.4 20.2 6| WAy —7 8.0 60.7 5.1 7. 1.3 0.5 0.8 75| 2.7l B-® | G0 9.1 * 2.0 9.1
TH3H 2 27.2 0.3 215 5 L) 0.0| 0.1 0.5 4. 43.4] 2.0 2.9 72.0]  2.800[ W 5.0 9.2 = 2.5 9.2
12 =l EEM 8H2TH 2 25.4 0.5  20.2 8| L) 0.0| 0.0| 0.3 3. 35.2 2.0 1.0 69.7 2717 W 4.9 8.8 * 18| 8.8
9A12H [ 30. 1 0.3 24.6] 5 L) 0.0| 0.0 0.3 8. 14.0 1.0) Lol ra7 20| W 4.5 4.1 = 13 4.1
il 1208 | & 7.2 0.4  10.2 5 248 0.0| 0.0 L1 15 16. 1 L1 1.0 63.7 264w on k| <68 15 * 2.8 15
| b - 1A16H I 9.1 0.4 8. 4] 5 AU =7 0.0| 0.0 0.2 1. : 0| 4.9 es.9| 2719 W 5.0 9.4 = 2. 9.4]
i - 5H14H & 21.5 0.3 12.4 5 IR 4.7 14. 9] 14. 8] 22. 6. 8] 0.3 13 79.0]  2.807[ - 5.6 8.3 *+ L6 8.3
x 65191 I 24.2 0.5 13.8] 7 IR 18 0.0 4.5 4.1 5. 16.7 L7 2.6 75.5| 2.851] 4.6 0 = 2.0] 10|
% TH3H 2 27.7 0.3 17.7 5 IR 0.0| 4.2 6.1 7. 33.2 L7 2.5  74.5| 2870 ® 3.3 13 * 18| 13
13 FIR)I KIEA 8H2TH [} 27.1 0.5 20. 1 6 *)—71# 0.0) 10.5 13. 4] 20. 20.7 2.0 1.8 77.1 2.799( - § 4.0 4 = 2.0 14
il 91121 [ 30.2 0.4 23.6] 5 IR 2.2 9.7 6.9 1L 31.6) 6.1 2.7 78.9] 2852 W 4.4 13 * 2.1 13
. b A0 [ & 8.1 0.5 12.4] 5 ) 0.0| 0.2 1.2 2. 42.1 1.0) 2.8 722 2914 W .3 8.1 = 1.8 8.1
ﬁi i 1116H [ 9.6| 0.5 9.0| 5 IR 0.0| 0.2 0.0 L 32.1 10| 29 L7 27l .5 12 * 2.2 12
§ 5 14H 2 20.2 0.1 15. 1 5 TR 3 0.0 354 2n2[ 12 6.1 L5 L8l 79.8]  sow03] gEew | <1 9.8 + 1.9) 9.8
- . I 8J127H S 28.1 0.2| 228 7 PR 0.0| 8.7 14.4] 26 7.1 0.1 15| 763 2.895] @ - 4.2 5.2 + 1.6) 5.2
b Il HEAG BT R A0 [ & 11.9] 0.2 128 5 IR 8 0.0 L1 10.7] 38 6.2 0.9 3.3 78| zooss| W 4.4 14 = 2.0] 14]
1116H [ 9.8| 0.2 8.5 5 K 0.0| 5.9 14.0] 15 16.0) 0.4 2.6  77.8] 062 W@ | <5 6.3 * L5 6.3
| 5H8H I 19.1 0.5 11.4] 5 WA —7 0.0| 0.0 0.0 0. 44.5 3.0 3.8 7| zsn| @ .4 6.0 = 1.8 6.0]
- o - 8J17H [ 35.1 0.2 222 5 KAY—7 0.0 0.0 0.0 0. 474 10.1 1.9 69.1] 2758 @ .1 21 * 2.8 21
1HTH 2 19. 6| 0.6  13.8] 5 [N ) 0.0| 0.2 0.0 0. 55.3|  13.4 2.9 706 2752 W .4 8.2 = 2.0] 8.2
|| Py, 1116H [ 7.3 0.3 5.7 5 WA —7 0.0 0.5 0.2 0. 6L.5 6.6 3.7 73 2969 W 4.0 7.8 * 1.4 7.8
5H9H I 17.2 0.8 12.4] 3 IR 18 0.0  39.7[ 205 7. 9.8 1.9) Lol 79.0[ 2803 B [ <1 6.1 + 1.6) 6.1
" - T 8J17H [ 3.2 0.3 224 5 K 0.0| 0.9] 0.2 0. 26.5 L2 2.8 79.9] 2919 W 2.9 5.7 * L1 5.7
LHI6H | B 12. 4] 0.2 14.0] 5 L) 0.0| 0.3 4.2 9. 40. 1 18] 3.6|  75.6] 2831 @ .8 4.7 L5 4.7
I17H [ 5.5 0.2 7.2 5 KB 0.0| 3.0] 7.7 1L 0.3 2.1 2.9 79.4] 3022 W 4.2 1.6 L3 1.6
| 5/24H I 23.8 0.2 19.8] 6| IR 8 0.0 L1 4.0 16 10.2 1.0) 2.7 69.3] 2871 W .1 43 = 3.9 43
e il Jv— 8J127H [ 21.1 0.3 17.6 5 248 0.0| 0.3 12| T 13.4 10| 2.8 722  2.850[ W .1 22 * 2.6 22
1250 | B 19.1 0.3 13.4] 5 L) 0.0| 0.2 4.0 1z 22.7 0.0 4.5 6s.9] 2981 @ 4.7 23 =+ 3.6 23
|| [ I1TH [ 7.2 0.2 8.7 6| WA — 718 0.0 17.2[ 10.6 12.6 0.8 2.0 75.7|  2.906 W@ | <9 1 = 19| 11
B 5/24H I 26.2 0.3 17.4] 6| TR 3 0.0 337 243 1.4 0.4 Lol 79| o.sis| W | <44 4 = 2.4 14
o I g B 8J127H [ 23.3 0.3 18.2 5 [N 0.0| L3 6.5 19.8 L1 2.7 7116|2762 W .1 17 * 3.1 17
PN 1250 | B 18.3 0.2 126 5 HEFH ] 0.0 30.6] 22,0 9.3 0.4 L6l 759 o.si8| W | <1 1.9 * L5 4.9
k I1TH [ 9.1 0.3 7.9 6 PR i 0.0 178 14.0 6.9 0.7 Lol 190  2oo02| w-g | @7 6.0 * L3 6.0
| 5H21H il 19. 4] 0.4 16.7 3 [N ) i 0.0 214l 427 0.6 0.3 Ls| 724 e Eew | <G8 16+ 2.6 16
" A - . 8J119H S 28.5 0.2 225 5 ) L8| 216l 219 19| L1 Le| 199 2te2| m-m | G 17 * 3.1 17
1A5H I 19.5 0.2  13.3 6| K 0.0| 0.2 0.4 38. 1 6.2 6.9 67.5| 2703 @ 4.7 17 = 2.6| 17
1115H [ 11.0] 0.2 6.5 5 [N i 2.5 19.3] 241 11.9 2.3 0.1 L6 737 otie| w-g | s 9.0 * 19| 9.0
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[
s _ _ _
e P iR | ek —fRIEE WSHHER R [Ba/kg (3278) ]
© | o [ ea |weE RLERR %% R | wE TS 5 - "
No. s s fr— zl:’:_v PRIBTR e P HIEEAHR (%) _ r«i%i EF‘K s SEARE v . fiii%
© | @ (D Wb | w0 [ s o s s | O | @) e o137 o
5H9H & 24.1 1.2 19.4 3 BIK b3 0.0 6.4 12.7 10. 6| 18.3 8.9 60. 5 2.633] L b 7.4 8.9 * 2.3 8.9
. . 8H2TH i3 29.2 0.3 23. 8] 5 i E3 0.0 20.1 51. 0] 5.8 0.8 2.3 74.1 2. 839 W <56.3 12 = 2.5 12
20| tiZSll i ST
iEil K 11H5H i 19.1 0.3 14. 8] 5 5 b3 0.0 14.3 30.3 35.4 5.2 5.3 69. 3 2.733 b <3.9 17 = 2.4 17
1H15H i3 12. 9| 0.2 8.9 5 E 3 0.0 . 8 54.7 19.2 1.3 3.7 72.5 2.762 W <56.0 8.2 = 1.9 8.2
5H20H = 22.1 0.5 22.7 5 b3 0.0 . 6 3.4 0.2 0.1 0.7 80. 0] 2. 663 b <3.5 3.5 = 1.2 3.5
8H19 L3 30.3 0.2 23.5 5 E3 0.0 3 5.7 0.2 0.5 0.8 87.3 2.672 - <3.3 4.1 = 1.2 4.1
21 RIS T ALOR Y : : pey
11H6H i 13.3 0.2 10. 6| 6| b3 0.0 .8 50. 8] 18.3 1.0 2.8 75.4 2. 740 b <6. 1 7.9 = 2.5 7.9
535011 1H15H i3 9.1 0.2 6.5 5 E3 0.0 19. 6| 20. 8] 2.8 0.3 1.0 80. 6| 2.732| W - 4.4 6.4 = 1.6 6.4
5H13H i 23.5 0.4 22. 9] 5 (LS 2.7 7.8 9.3 5.2 0.9 1.3 83. 6| 2.716] - i <3.5 4.9 = 1.5 4.9
. . 8H2TH E:3 29. 6| 0.3 25. 9] 4| E 3 1.5 11. 6| 7.9 2.1 0.5 1.2 82. 8] 2.684| - W <3.3 4.0 *= 1.1 4.0
22 )11 Flds T - R T = . 3
" K T 11H16H i 20.5 0.2 14.3 5 e 0.0 20.4 14. 6| 1.1 0.2 0.9 84. 0] 2.700| - W <0. 59 2.5 * 0.24 2.5
1H17H i3 9.1 0.2 8.0 5 0.0 6.6 28.1 37. 4] 4.5 3.5 69. 9| 2.751 W <4.9 7.2 = 2.2 7.2
5H20H i 23.7 0.2 19.4 3 0.0 29.5 35.3 11. 8] 4.5 5.1 82.3 2. 716 b 3.3 13 = 2.2 13
8H19 L3 3.3 0.2 22. 9] 5 2.2 19. 9| 2.1 0.2 0.2 0.7 90. 9| 2. 694 - <2.1 3.3 = 0. 98| 3.3
2 el Ll JEHT LN L3 ’ ' g R
11H6H i 16. 6| 0.2 12.3 6| 0.0 10. 6| 40. 6| 29.1 7.0 3.5 75.2 2. 796 b <3.5 5.5 * 1.5 5.5
1H15H i3 8.2 0.2 9.6 5 3.0 22. 0] 18.7 8.8 1.9 2.3 82. 0| 2.773| W - <4.0 6.8 =+ 1.6 6.8
5H20H = 20.7 0.3 20. 6] 5 0.0 18.2 54. 6| 6.7 0.2 2.4 74. 8] 2. 696 b <3.9 5.1 *= 1.4 5.1
N 8H19H E:3 26.2 0.2 23.3 5 0.0 20.2 28. 4| 5.4 0.1 1.6 78. 6] 2. 726 - 4.3 6.6 =+ 1.7 6.6
o el RIS i Alon | & : , N ,
B 11H5H i 16. 4 0.2 12. 9] 5 0.0 14.3 0.7 0.8 1.1 0.8 90. 8] 2.691| - <0. 56 3.0 = 0. 20] 3.0
Il 1H15H (i3 5.6 0.2 5.2 5 0.0 5.7 3.1 0.6 0.1 0.4 82.2 2.667| - i <4.5 5.0 = 1.5 5.0
:g ;g 5H14H & 19. 8] 0.1 16.5 5 4.9 10. 6| 20. 8] 3.0 0.4 1.7 78.1 3.034] -0 <5.4 14 = 2.0 14
ii . - 8H27 L3 26. 8| 0.2 23.3 5 0.0 28.7 42. 9| 2.9 0.0 2.2 75.2 2. 884 a <4.0 14 = 2.2 14
s aesn P et LLIN B ‘ : A !
7 11H5H i 17.4 0.2 13.7 5 0.0 12.7 23.4 4.2 0.4 1.5 77.4 2.978| - i 4.7 13 = 2.1 13
ES 1H17H (i3 11. 6| 0.2 7.2 5 0.0 22.7 23.2 1.8 0.5 1.4 78.2 2.887| Wb - <4.0 16 = 2.1 16
5H13H i 24.2 0.2 24.5 5 0.0 11.5 10. 8] 1.2 0.1 0.7 79.7 2.825| § - <4.8 8.4 * 1. 6 8.4
. 8H2TH (i3 28. 8| 0.3 24. 6| 5 0.0 13. 9| 29. 8] 10. 8| 0.3 1.3 76.7 2.904] Wb - 4.3 22 = 2.5 22
26) 2ol 8 ST ”
¥ A K 11H16H i 14.3 0.3 13.3 5 0.0 4.1 13.2 8.2 0.2 1.0 81. 6] 2.801| B - <5.1 12 = 2.3 12
1H17H (i3 6.1 0.2 8.8 5 5.9 4.3 23. 0] 18.2 1.7 1.6 76. 8] 2.967| Wb - <3.1 4.0 *= 1.2 4.0
5H9H i 19.1 0.3 19.4 5 0.0 15.3 17. 8] 1.4 0.7 1.4 76.5 2.777) - <5.1 11 = 2.0 11
. 8H2TH E:3 28. 9] 0.3 23.3 5 3 10. 4| 16.3 8.4 1.1 2.3 2.3 83.1 2.733|®E- v b 4.1 13 = 2.0 13
27| B i FHMRTTT - TRET -
5 BRI K 11H16H i 17.2 0.2 12.4 5 b3 0.0 0.0 43. 8] 48.2 4.1 3.9 75.2 2.813 b <3.9 5.2 * 1.3 5.2
1H17H (i3 8.2 0.2 8.5 5 E 3 0.0 1.4 72. 6] 18. 8| 3.2 3. 8| 74. 0] 2. 854 i <56.4 5.5 =+ 1.6 5.5
. 5H20 = 21. 0] 0.3 16. 6| 5 b3 0.0 23. 8] 20.5 0.5 0.1 1.3 76.7 2. 700 b <2.2 3.1 *= 0.91 3.1
2 O 8 R
11H6H (i3 14.5 0.2 11. 9] 6| Ei3 0.0 1.0 12. 4| 27.2 53. 6| 5.8 76. 0] 2.715 <6.0 14 = 2.2 14
5 ™ 20. 2 2 E ™ 5 : : - ; 2.6 3.7 = 9 3
29 HFE T 5H20H i 20.2 0.4 21.1 3 0.0 4.8 15. 6| 7.3 0.3 1.1 83. 8] 2.745 <2.9 3.7 = 0.93 3.7
e 11H6H (i3 16. 6| 0.3 11. 8] 5 Ei3 0.0 11.1 5.1 2.3 0.9 0.8 80.3 2.711 <0. 63 0.72 = 0.21 0.72
- i : w ! g - T ; : : =
30) FERAG G - 5H9H = 24.1 0.7 16. 7 5 0.0 32.2 16.3 0.4 0.0 2.0 81.7 2.704 <0.43 1.5 *= 0.17 1.5
11H16H (i3 20.5 0.2 13. 8] 5 AV —TH E 3 0.0 28.5 10. 9| 2.9 0.0 1.3 79. 8] 2. 696 <0.51 1.5 =+ 0. 18] 1.5
g i 22 2 3 [P NTAS b3 . 2.3 . 2. . 3 2. .3 2.6 3. .3 £ .
31 o) 14 ey 5H9H i 22.1 0.2 17.7 3 (CHVHEHE 0.0 12.3 15.7 2.0 0.3 2.1 77.3 2.675 3.4 3.3 1.0 3.3
11H16H (i3 18. 0| 0.2 13.5 5 AV —TH E 3 0.0 19.5 15. 4| 1.3 0.1 1.1 88.3 2. 685 <0.51 1.3 += 0. 16 1.3
:” 5H10H i 24. 6] 0.3 14.2 5 ) —7R b3 0.0 15. 6| 37. 0] 11. 0] 0.4 2.1 79. 0] 2.843 3.4 3.4 = 0.95 3.4
i o =
8H8H i 33. 8 0.5 26.5 5 WA Y —7 Ei3 0.0 10.7 35. 9 8.7 0.1 1.6 85. 0| 2. 876 <2.5 2.5 =+ 0.75 2.5
P I Il AN it s i - : i . : At g : :
& 11H9H B 13.4 0.2 17.3 5 KAV —F b3 0.0 13. 0] 29.3 13. 8] 0.6 1.1 75.7 2. 856 <0. 56 2.9 = 0. 20] 2.9
ik 1H7H Wi 7.7 0.2 14. 8] 5 AV —7H 4.4 17.1 20.2 8.9 0.7 2.1 82. 6] 2.825 <4.5 4.1 = 1.2 4.1
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R
FRIRU A — — -
e P iR | ek —fRIEE WSHHER R [Ba/kg (3278) ]
C) (m) iR | BRIER HLEERLAR (%) FIE | T v A it
No. ki Hfi e TR | HRIE @i = - - —— - - FIR R - %
©) (em) HEsy | ey | AR | RISy | hebdy | Ry (S R RSy | (%) | (g/en®) Cs-134 Cs-137 &3
5J18H [ 21.2 0.2 14.6] 5 PR e 3.6 2o 162 r0a] a4 6.1 0.5 L] sos|  moer| mew [ < 8.4 + L7 8.4
2 I — SHTH [ 35.3 0.2 24.8] 5 i) i 0.0| 3.3 2.6 5.0 651 216 0.1 2.5 789 3284 W 2.6 2.9 = 0.85 2.9
" 1ITH S 18.7 0.3 15.8] 4 PR i 0.0| 0.0 0.0 0.2 331 639 10| L8| 764 s3] @ .1 1.2 * L3 1.2
146A [ 12.1 0.3 7.2 5 AU =7 i 0.0| 0.0 0.1 2.9 622 209 L1 3.8 7ro|  zel| W 2.9 4.7 = 0.92 4.7
5J18H [ 22.2 0.2 145 7 248 " 3.2| 228 7.6 76| a5.2] 111 0.7 L8| 1.2l a0 @ 2.6 1.7 * L2 1.7
i P - — SHTH [ 38.0 0.2 24.9] 5 i) [ 0.0| 0.3 0.2 0.8 4n3[ 499 3.6 39| 70| z7s7 4.6 12 * 2.2 12
1ITH [ 17.7 0.3 14.0] 6| [N ) " 0.0| 2.3 0.5 5.2 6.4 18.9 2.9 2.9 L2 2.740 .1 9.2 * 2.3 9.2
1A16H [ 10.1 0.2 141 5 i) [ 0.0| 2.7 3.9 208 547 1.4 2.2 759 2.912 4.6 9.2 + 18] 9.2
5J18H [ 23.5 0.2 17.0 5 248 " 0.0 9.1 160 10.5] 346 0.3 2.1] 829 3.316 2.1 2.2 = 0.63 2.2
a8 —_— A SHTH [ 37.7 0.3 20.0] 5 i) [ 0.0 215 6.8] 4.9 49.4 1.2 2.8 7T4.2| 2.875 3.6 5.1 + L5 5.1
. 1ITH [ 16.2 0.3 14.8] 7 ) i 0.0| 0.0 0.6 L7 a7 6.5 4.3 66.9]  2.720 4.4 0 * 2.1 10
1A16H [ 10.2 0.2 6.0 5 i) 0.0| 0.2 0.9] 3.8 20.2 17.1 9.1 4r4] 2715 .7 32 + 3.1 32
51101 [ 27.2 0.2 188 5 248 0.0 6.6  16.4 7.0l 452 0.7 2.1|  71.8]  3.085 3.3 1.9 * 1.4 1.9
2 ol i 8H8H [ 311 0.5 25.8] 5 i) 0.0 253 124 11.4] 379 1.3 18| 719.2|  2.833 .2 6.0 * 1.6) 6.0
7 1ITH [ 14.8] 0.3 14.7 5 KA Y —7 0.0 L5 L3 5.4 5L0] 10| L8| 73zl 2019 3.5 5.3 + 1.6) 5.3
i 1A16H [ 11.0] 0.2 9.1 5 i) 0.0| 2.4] 2.0] 4.4 518 0.0 2.7 75.3] 2,941 .3 6.8 L5 6.8
" 51101 [ 28.5 0.2 18.8] 1 V—7 0.0 174l s 23l 191 0.1 L4 190 2.768 4.2 6.6 + 18| 6.6
JIIN . 8H8H I 4 0.4 21.0] 6| KA —7 0.0| 0.1 1.0) 4.8]  63.6] 1.0) 2.8 782 2.820[ W 3.2 71+ 1.2 7.1
37 = il ] b 2
g T (5 119K [ 15.5 0.3  14.5 5 0.0 5.4 154 161 388 16| 2.3 1| o.soa| W@ | 20 * 2.5 20
’ 1A7R 2 8.2 0.2 8.5 5 AU—7H 0.0| 0.0 0.8 131 e84 1.0) 2.9 752 2719 W .8 71+ 18] 7.1
5J18H [ 25.6 0.4 15.7 5 [N 0.0 0.5 0.4 L3 el 1.8 5.3 619 2.7 W 6.4 13 = 1.0 13
a9 - SHTH I 39.8 0.3 245 5 L) 0.0| 0.1 L1 4.9 60.2 2.5 3.7 77| zooss| W 4.9 33 + 3.1 33
1ITH [ 15.9) 0.3 13.4 6 # 0.0 0.0 0.1 3.4 5L5 3.0 4.3 707 2,958 W .2 11 = 3.6 41
o 1A16H I 12. 0] 0.3 126 5 L) 0.0| 2.8 6.3 206 43.3 3.9 4.7 149 2812 W 5.5 25+ 2.9 25
51101 [ 28.4 0.4 17.8] 7 FU—7 R 0.0 3.1 e[ 127[ 216 0.0 L1 s34 oot m- [ G0 30 * 2.9 30
a9 W - 8H8H I 36.2 0.3 28.2 7 AU—7H 0.0| 0.0 0.0 0.1]  55.9] L1 2.9 32| 2ssif W .1 17+ 2.7 17
il 119K [ 15.1 0.3 16.7 5 0.0 0.6 5.2 9.3 12.9) 1.5 1.1 585 2.793[snkem| <7 51+ 5.0 51
- b 1A7R 2 8.2 0.2 8.3 5 0.0/ 3n9| 143 8.2 32.9] 0.3 2.4 76.6] 2747 W | <6 23+ 2.8 23
al—|
j” i 51101 [ 28.6 0.3 20.1 5 FU—7 R 0.0 8.0 19| 153 510 0.5 L7 omsr| oored| mEew | s 7.2 * 18| 7.2
& 65131 I 29.0 0.7 24.9] 3 IR 18 0.0 142l 1zel 138 411 2.1 L4l 7ol o.tes| W [ a7 6.7 + 1.9) 6.7
* TH9H S 21.2 0.3 20.5 5 FU—7 R 0.0 30.6] 154 127[ 256 0.6 L1 osiol  27ad| B[ B9 6.6 + L7 6.6
40) IR FIRAHE TAGHNT - F7Hd [ 8A8H [} 36.8) 0.5 30. 4 6 AV —78 0.0) 43.3 23.0 10. 1 17. 6] 0.0) 1.0 81.5  2.716] - i) .1 9.1 * 1.7 9.1
9138 2 27.6) 0.2  22.7 5 0.0/ 141 2.9 2.7 52.7 . 0.8 Le| 19l 2877 W@ 3.8 8.9 * L7 8.9
1LA9H I 17. 6| 0.2 16.1 6 AU—7H 0.0| 0.0| 0.0| 0.1 2.5 462 397 14| s9.7|  2.seafsab-w| <62 38+ 4.1 38
1A7H S 9.1 0.2 7.6 6| FU—7 R 0.0| 0.0| 0.0 0.4 1.0 825 7.7 5.4 715 2.715[®-on k]| 3 [T 2.4 14
5HTH I 12.2 0.5 112 3 IR 18 0.0 6.7 333 243 209 2.9 0.4 15| 7i2|  2.805 W@ | <52 34 = 3.3 34]
61131 [ 17.7 0.6 12.7 3 IR 0.0 163 o8| 227[ 252 2.5 0.5 2.0 68.6] 2.856 @ .4 33+ 3.6 33
TH9H 2 15. 8| 0.3 13.3 5 KAV =7 0.0| L7 8.2 183 495 170 17 3.5 723 2787 Wom | <51 21+ 2.9 21
41 NI EIHR 8J11H [ 29.0 0.4 17.8] 6| FU—7 R 4.8 352 269l 2naf 107 0.3 0.0 Lo| so.6| 2.768 3.1 * 10| 13 = 2.6 46. 1
9H4H 2 20.1 0.2 171 5 AU =7 0.0 1.6) 4.5 12.4] 515 235 3.7 2.7 68.7 2.787 .8 61 = 4.8 61
nA2H| # 7.8 0.3 7.8 5 FU—7 R 0.0 8.7 318 136 1.9 0.5 0.0 0.6 85.1] 2837 6.4 [T 2.5 14
146A I 3.3 0.3 5.3 6 KAV =7 0.0 167 s2.6] 231 5.1 1.2 0.1 12| 8.6 2.680 .3 e 2.3 11
51101 [ 26.5 0.3 16.5 4 248 0.0/ 2.1 6.9 8.7 0.6 143 L3 3.2 1.7 2,902 4.6 30 * 3.0 30
" = — - 8H15H 2 27.4 0.3 245 4 B8 L3l en3| 131 0.0 12,7 0.9 0.0 0.7 80.0] 2.801 4.5 16+ 2.4 16
I " LILLH | B 13.5 0.2 13.0 5 IR 0.0 263 135 15.2[ 350 8.2 0.0 L7 sl 20831 4.3 13 * 2.1 13
i 146A I 9.1 0.2 7.4 5 B8 0.0| 6.5 3.3 157 528 16.5 0.9 4.3 761 2,787 4.5 15+ 2.2 15
J 51101 [ 28.6 0.2 214 5 ) 0.0 9.8 1z2l 185|383 8.0 0.1 3.3 802 2741 .1 21 * 2.9 27
IQ T FL | 65131 I 25.3 0.4 17.4] 5 K 0.0| 2.5 5.2 20.6] 559 4.2 0.1 2.7 75.5] 2770 W .8 25+ 2.7 25
N TH9H S .0 0.3 171 5 [ 0.0| 0.6 2.4 128 6Lzl 153 3.9 3.8 a5 2mif B 3.8 35+ 3.3 35
43 i RAKEUK O 8H15H 2 9.2 0.2 23.8 4 0.0) 0.0) 1.0 13. 4] 69.2 12. 4] 0.1 3.9 73.9]  2.716] W .1 31 4.1 31
95148 2 5.5 0.2]  20.0] 5 0.0 2.7 L7 Lo 3.6 435 7.0 5.7 68.5 2723 W .8 16 1.0 16
HALA[ & 15.2 0.2 14.0] 5 0.0 0.0 0.6 7.9 816 5.9 0.8 3.3 78| za| W 6.8 15+ 2.9 15
LATH [ 4.3 0.2 5.6] 5 0.0/ 155 s.1| 139 4ol 125 0.9 2.3 3.7 2687 W@ | a9 20 * 2.7 20
5H9H & 19. 8] o[ 173 4 3.8 174 2.3 L5 1l 204 2401 9.1 an1| zes1[oabw 6 = 35| 170 = 10 186,
. 8J128H 2 24.3 0.9 235 5 28] 10| 1nsl  10.5]  13.6] 155 166  15.2[ 73] 2.678[m- k| 6 83 + 5.3 83
44 % BN LA GEL]
Frer L B LHLA | R 16. 6| 0.2 16.4 5 0.0 0.5 0.7 3.9 7330 15.4] 2.3 3.8 er.9] zsa| W@ <.1 36 + 4.5 36|
1121H [ 11.0] 0.2 7.3 5 0.0 243 1.6 4.8 ane| 12,7 4.9 7.0 751 2.855|oa k| <55 28+ 3.0 28
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- [
fvs ; o | | e T AT TR /e i)
Yo. Kk e TS T | w ikt e s — — L - . pl I BTN Lol - s
© s | v | me e | ven | @men oo s i | 00 | wad o1zt o137 &l
5H10H 22.1 0.4 14.2 5 [(BNAY: ¢ =) ki3 0.0 29. 6| 37.7 20.3 10. 0] 0.8 0.7 0.9 84.1 2.744| B - W <6.2 34 = 3.3 34
45 P fE 8H15H 33. 6] 0.4 21. 8] 5 FV -7 i3 0.0 25.3 22. 8| 17.1 25. 9] 6.3 0.7 2.0 74. 9] 2.861| Wb - <56.5 32 £ 3.9 32
11H11H 13.4 0.2 13.4 5 0.0 40.7 24.5 10.5 18.1 4.8 0.2 1.2 75.2 2.962| - i <5.7 21 3.6 27
H1 1H6H 11. 0| 0.2 7.9 6| 0.0 1.7 18.1 24. 6| 38.3 4.5 0.4 2.4 75.2 2.735| W - <56.3 34 = 3. 4| 34
5H10H 28. 8] 0.3 22. 0] 6| 1.0 50. 9] 32.4 10.5 4.0 0.5 0.3 0.5 77. 8 2.713| - <6.9 13 = 2.6 13
16 i i3 ] FAETT - 2RI 8H15H i '3]4 0'3 2'38 6| 1.3 40. 8| 17. 4| l?.z 17.1 6.5 2.1 2.6 82.2 2.7:3] g <4.6 ] 18 = 2'3 18
I 11H11H = 13.4 0.3 14. 6| 5 0.0 5.2 2.4 3.7 50. 2 21.5 7.0 10. 0| 57.7 2. 691 b 9.8 *= 2.6 120 *= 7.3 129. 8
to) jﬁ W 1H21H 8.2 0.3 5.2 5 2.4 38.5 14. 8] 21.3 18. 9| 2.3 0.4 1.3 78. 4] 2.831| - W 4.1 15 = 2.2 15
i 7 J/l 5H9H 19.2 0.8 19.1 10 0.0 0.0 0.0 0.1 1.9 10.5 53. 0] 34. 6] 19.1 2.364] L b 63 = 13 770 = 39 833
a7 ES P ik 1| P bkt 8H28H 26.5 0.9 25.2 10 0.0 0.2 0.1 0'3 1.6 l?.R ?9.9 35.1 2?“\.0 2. 328 “//1/ N '35 + 2 610 = 21. 67/)5
11H9H 18. 8] 1.0 18.1 10 0.0 0.0 0.0 0. 6 5.9 13.1 34.7 45.7 23. 9] 2.282] v b 32 = 500 = 26 532
1H21H 10. 8| 1.1 7. 6| 10 0.0 0.0 0.0 0.3 3. 8| 9.6 40. 6| 45.7 21. 6| 2.313] vk 36 = 490 += 23 526
5H9H 18. 8] 1.0 17. 8] 8| 0.0 2.6 2.1 3.0 42.1 30.5 6.3 13.4 61.2 2.801] b <1.0 4.2 * 4.2
m Pl IRINT - BATRT 8H28H 26.5 1.1 25.2 10 0.0 0.0 0.0 O.VI 14.5 '377 33. 0] 148 '370 2. 570 //1/ N <f‘?.8 90 E 90
11H9H 18.7 1.2 19.1 10 0.0 0.0 0.1 0.3 49. 9] 35. 6] 7.8 6.3 73. 6] 2.709|# - v b <6.1 36 = . 36
1H21H 11.1 1.2 10. 8] 5 0.0 0.0 0.0 0.1 34.2 44. 8] 11.1 9.9 59. 6] 2.7T10|# » > <6.5 47 + 4.7] 47
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JR30ERBE (L4, 22 R )
REHL - EE T

gn | xe | O OV BTIRE [Ba/ke ()] PR BRI [Ba/ke (F0) ] .

- ik i [ 2 TSR A~ ) & PR na | B~ 7 5 s
Cs-134 Cs-137 A8 Cs-134 Cs-137 &#t

55]27R i 29.2 IZHRVER i WE 10 + 3.0 110 + 8.0 120 0.08| Iz i HE 13 + 3.3 200 + 12 213] 0.06
L i 8H2H I 315 (25 UEHE % i;%E 4.3 + 1.2 55 + 2.7, 59.3 0. 09) i) et %E 8.7 + 2.4 130 + 6.6 138.7 0.07
111220 it 8.5| ICHHE LS ey 8.8 + 2.5 110 =+ 5.8 118.8 0.07| 1250 (LS HE <1.6 100 + 6.3 100 0.07
| 16A I 2.0[ IZFVEHS E BT 8.4 44 =+ 4.8 44 0.07| =RV i W 8.4 * 2.5 150 * 8.4|  158.4] 0.07
57140 2 22.0 Fai] Wt iy 20 * 4.0 250 + 13 270 0. 06) ] Mt HWH 23 + 4.9) 310+ 16 363 0. 06
FURI 6719 2 27.8 218 LS 15+ 3.8 220 + 12 235 0.07, i) et | 42 * 6.1| 490 * 19 532 0.06
TH3H it 25.5 Fai] Wt iy 17 + 3.8 230 + 13 247 0. 06) B8 (LS HWH 28 + 4.5 330 + 15 358 0. 05
2 A FRTRINFRT 8H16H I 29.6 RS A By 5.3 + 1.6 92 + 5.4 97.3 0. 06 548 et WE 4+ 5.9 520 + 20 564 0. 06
9/ 11H it 28.7 Fai] (S iy 8.8 * 2.7 170 + 8.6, 178.8 0. 06) B8 (LS HWH 16 + 5.6) 620 + 18 666) 0. 05
111220 I 10. 0] 218 A BT 13+ 3.4 210 *+ 10 223 0.06] R et e 29 + 4.0 430 + 13 459 0.06
| 1Ji6A i 6.1 18 k| HE 13+ 3.9 210 + 12 223 0. 04 18 Mok | SR 28 =+ 4.7| 420 * 17 448 0.06
50140 2 23.3 1 et BT 8.8 82 =+ 7.0 82 0.05| K et WE 1o+ 3.3 140 + 9.2 151 0.05
3 Sl PR 8J116H it 29.0 Fai] Wt iy €9.6 110 + 9.4 110 0. 05 ] Mt HWH 21 + 3.8 270 + 13 291 0. 05
11722R L 10.1 218 Mt BH 8.0 100 + 6.7, 100 0. 05) i) it W 4+ 2.9) 180 + 8.9 194 0.05
| 1Ji6A I 7.2] % % W <1.2 48 =+ 5.3 48 0. 04 fiaiic] Mok | SR 1+ 3.5| 120 * 9.2 131 0.04
5A7H i 11.4 218 % BH 120 + 9.1 1,400 + 31 1, 520) 0.10 548 et WE 500 + 21 6,500 = 67 7, 000) 0. 09
6/119H fi§ 25.8 Eaic) it g 94 + 8.6] 1,300 + 29| 1, 394] 0.10 Esic) (&N HH 130 + 11| 1,700 + 37 1,830 0.08
TA3H 2 23.8 18 A BT 83 + 7.8] 1,200 *+ 27| 1,283 0. 09 B8 et e 120 + 1| 1,700 + 38| 1,820 0.09
4 )11 KREA A |5 8A2H It 32. 8 i) it HiE 100 + 8.8| 1,600 =+ 31 1, 700] 0. 09 Esic) (&N HUE 81 + 8.0| 1,100 + 30 1,181 0.08
9/111H I 28.7 I 18) et BT 73+ 7.8] 1,300 *+ 29| 1,373 0. 09 i) Mt W 110 + 10[ 1,500 + 36| 1,610 0.08
11220 3 10. 0] i) et HiE 94 + 7.5 1,500 + 27| 1, 594] 0. 08 L) (&N HUE 72 + 7.0| 1,100 + 24 1,172 0.07
| 1ATA 2 4.5 £ ek | 99 + 7.8 1,400 + 28] 1,499 0. 05 £ et | 120 =+ 1| 1,700 + 40| 1,820 0.06
| FI 5/130A i 20.0] KB k| HE 23+ 4.3 320 = 13 343 0.06 ] Mok | SR 41 * 6.0 680 + 21 727 0.07
il 5 Tﬁ ﬁ Py J 8116 H 2 23.6 218 A BT 28 + 4.2 420 + 16 448 0.07, i) et W 66+ 8.4] 960 + 30| 1,026 0.06
n PAER : LUT19A | B 10.0 i) k| HE 12+ 2.8 170 + 8.2 182 0. 05| 18 Mok | SR 31 + 4.1| 400 + 13 431 0.06
EEIE LATA I L2| R0 | st | sE <6.3 110 + 7.6, 110 0. 04 218 Mt | 71+ 7.4 1,100 + 26| 1,171 0.04
5/130H it 25.5 IR e WH <5.3 1+ 2.1 11 0. 05 B8 (LS WH 58 =+ 6.1 660 + 20 718] 0. 06
6114H I 24.4| R % W <7.1 19 + 3.0 19 0. 05 i) Mt W 110 =+ 11 1,500 + 40 1,610 0.06
TH5H = 22.8 IR ki3 we <5.2 10 + 2.1 10 0. 05 L) (&N HH 98 + 12| 1,200 + 40 1,298 0.06
6 FURNT 5 2 8116 H I 27.4| IR % W 6.0 12+ 3.0 12 0. 06, i) et W 98 =+ 11 1,600 + 42| 1,698 0.06
Femil 9/ 13R 3 19. 1] TRV EE Eid WHE <6.4 35 + 4.8 35 0. 05 L) (&N HUE 79 + 8.8| 1,200 + 32 1,279 0.06
LLAL9A | Hif 14.8 [ W <6.8 9.0 =+ 2.2] 9.0 0.05 218 Mt | 79 + 8.1 1,200 + 28| 1,279 0.05
| W iR i 4.3 % W <5.9 9.5 * 2.4 9.5 0. 05| fiaiic] Mok | SR 36+ 6.9] 600 * 26 636 0.05
54 14A [ 21.0 Wt | 51 + 5.2| 630 + 16| 681 0.04 8 e S 48 * 5.5 530 + 17 578 0. 05
61190 it 25.3 (S E 41 * 6.1 610 + 21 651 0. 04, ] Mt HWH 10 + 2.7, 160 + 9.3 170 0. 05
TH3H L 26. 4 Mt BH 34 + 6.2 510 =+ 19 544 0.05 548 et WE 31 * 4.1 370 =+ 15 401 0. 05
7 AR 8J116H it 34| IZEBVE Wt Ly 41 * 6.1 620 + 21 661 0.05|  JKH (LS WH 35+ 4.7] 440+ 14 475, 0. 06
9A11RA I 30.2| RS et | 44+ 5.0 570 * 17 614 0. 05 18 Wt | S 20 * 3.9] 310 * 13 330 0.05
11J120H 2 6.5 Fai] Wt iy 47 * 5.5 810 =+ 20, 857 0. 05 B8 (LS HWH 32+ 3.6 160 + 13 492] 0. 05
| 1ATA 2 6.2 218 et | 38+ 5.9 640 * 22 678 0. 04 18 Wt | R 34+ 4.8] 560 * 17 594 0.04
5/123H it 25.2 Fai] Wt iy 37+ 7.0 500 =+ 23, 537 0. 04, B8 (LS WH 19 + 4.3 200 + 13 219) 0.04
8 H31l proses gy 8H26H I 27.7 218 fv‘ikj: i;%E 33 + 5.7 400 + 17, 433 0. 04 B8 it %E 20 + 3.9) 270 + 14 290, 0.04
115250 It 15. 9| i) et HiE 17 + 3.5 280 + 11 297 0. 04 Esic) (&N HUE 65 + 6.4 980 + 23 1,045 0.04
| LAITH I 4.0 £ et | 25 + 4.6] 390 + 15 415 0. 04 £ Wt | R 28 + 4.4] 460 * 17 488 0.04
55230 fi§ 19. 8| Eaic) it HiE 310 + 21| 4,200 + 76! 4,510 0. 04 Esic) (&N HH 130 + 16| 1,700 + 55 1,830 0.04
9 Gl o o 4T 8H26H I 27.3 218 fv‘ikj: i;%E 81 + 1] 1,100 * 36, 1,181 0.04 B8 it %E 96 + 14| 1,200 + 46 1, 296) 0.04
111250 it 14.7 Fai] Wt iy 13 + 3.0 190 =+ 9.7, 203 0. 04, B8 (LS HWH 23 + 3.7] 360 + 13 383) 0.04
JI17H I 3.8 1 18) [ ST 31 + 5.4 490 + 16 521 0. 04 ) ot W 42+ 5.1 590 + 18 632 0.04
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REHL . P T
RIA NS A S B EE [Ba/ke (#)] HURPEMEBLE [Ba/ke (D) ]
(c) n TR 2R R | e 2 R 5%
. i e [ il S| R AT~ 7 A S| e | R BT~ 7 5 e
Cs=134 Cs=137 X Cs=134 Cs=137 At

57140 2 20.5| IS0 & W <45 5.1 * 1.6, 5.1 0. 04, ] Mt HWH 27 + 3.6 430 * 12 457] 0.04
6190 I 26.3| RS [ W <6.2 1.8 * L5 1.8 0. 04 A8 Mt | 13 + 2.8 150 + 8.4 163 0.04
TH3H = 27,3 ICHVED Ei W <2.6 1.6 + 1.3 1.6 0. 04, B8 (LS B 1+ 3.2 130 + 9.7 141 0.04
10 HE HE T HE LT 8A16H % 26.2| KRB % W 6.5 8.6 + 2.7 8.6 0.04 218 et W 18 + 4.0 300 + 15 318 0.04
9/ 11H 2 32. 4] il e WH <1.4 6.7 = 1.9, 6.7 0. 04, ] Mt HWH 12 + 3.1 150 + 10 162 0.04
11250 | W 18.7 RS [ W 5.7 13 + 2.5, 13 0. 04 g Wt | WE <1.6 99 + 7.1 99) 0.04
| 1116H it 2.1 IRV Ei W <6.4 22 =+ 3.5 22 0. 04, B8 (LS B 35 + 6.4 540 + 21 575) 0.04
5H15H [ 23.3 48 wt g 13 + 3.5 210 + 12 223 0. 04 i) et WE <8.8 10 + 7.1 110 0.04
I Sl [ e 8J116H it 29.4 L:.sfu\ﬁ%s Tr&i %E 8.'2 + 2.0 91 + 5.1 99.2 0.04] IZ5 f!xi HE <6.4 42 + {.3 42| 0.04
11250 | W 18.0| IoHWES | mck | s 13 + 2.7 130 + 7.5 143 0. 05 1 Mt | 7.8 + 2.5 110 + 6.1 117.8] 0.04
] 1J116H i 4.8 # wk | e 6.6 + 2.1 81 =+ 6.5, 87.6 0. 04 ) Wt | 0 + 2.2| 100 * 6.5 110 0.04
50140 I 22.6 I 18) % BT 25 + 4.9 320 + 15 345 0.04] R et | S 57 + 6.2 790 + 21 847 0.04
6J119H I 24.8 218 wk | e 22+ 4.4 300 + 15| 322 0. 04 i) (LS 4+ 7.3 790 + 24 864] 0.04
TH3H 2 27.2 ) wok | s 23+ 4.8] 380 + 17] 103 0. 04 ) Mt | 45+ 5.9 610 + 20 655| 0.04
12 =l BEEB 8H27H 3 25. 4 et HiE 15 + 3.5 220 + 11 235 0. 04 L) (&N HUE 81 + 6.7| 1,300 + 25 1,381 0.06
9/112H I 30. 1 A BT 32 + 5.5| 430 *+ 19 462 0. 04 i) et WE 10 =+ 8.8| 1,500 * 32| 1,610 0.05
Al 11200 3 7. 2] et HiE 56 + 6.4 910 + 23] 966 0. 04 Esic) (&N WH 110 =+ 7.8] 1,500 + 26 1,610 0.04
] il 1A16H fi§ 9.1 [ 20 + 4.4[ 300 + 16] 320 0.05 18 et | R 31 + 5.6 430 + 19 461 0.04
il 5/ 14A L] 215 ICRVER i HH 21 + 3.6| 210 + 11 261 0.04] Iz SV i HE 100 + 9.0[ 1,300 + 31f  1,400) 0.04
?..E 619 I 24.2 ) wok | s 38 + 4.4 470 = 14] 508 0. 04 A8 Mt | 150 + 14| 2,200 + 50[ 2, 350) 0.04
TH3A 3 27.7 i) it HiE 24 + 4.6 330 + 15 354 0. 04 L) (&N HH 34 + 6.4 540 + 23 574 0.04
13 iR KIEH 8/ 27H I 27.1 48 Wt g 32 =+ 4.2 440 + 14 472 0. 04 B4 et WE 66 + 8. 8] 860 + 29 926) 0.04
il 9J112A i 30.2 %) #k | e 55 + 8.0 980 + 27| 1,035 0. 05 [ (LS 240 + 18| 3,500 + 63| 3,740 0.05
- it 11A200 | 42 8.1 £ et | 64 + 5.9 1,000 + 21| 1,064 0. 04 £ Wt | R 210 + 12 2,900 + 39| 3,110 0.04
| — i 1/16H It 9.6 5B et HiE 140 + 5.6 630 + 20! 670 0. 05 25 (&N HUE 8.8 + 2.1 150 + 7.3 158. 8 0.04
§~ 5A14H L 20.2 ] % BH 10 + 3.1 150 + 9.1 160 0.04] 125V i WE 8.6 + 2.0, 93 + 6.0 101. 6 0.04
- - . . . 851270 2 28. 1| ICRVER | ek | <. 1 84 =+ 5.1 84 0. 04 il Wt | 8.5 + 2.6] 100 + 8.1|  108.5 0.04
1 o R Bl - R 11H20R L] 11.9 ] et BH 6.9 + 1.8 98 + 6.2, 104.9 0.04 i) it WE <6. 1 89 + 6.0 89, 0.04
| 11161 fif 9.8] ITHVE | fck | R 5.7 100 =+ 5.7 100 0.04f ITsNEHE | Bk | HEET <6.4 120 + 6.0 120 0.04
55181 I 19.1 % wok | s 4.8 4.5 * 14 4.5 0. 04 1 Wt | WE 8.2 68 + 6.9 68 0.04
15 B g 8/7H it 35. 1» 2l T&i %E <1.4 110 + 7..1 110 0. 04, fiz] Mt B 9.5 + 2.2 130 + 7.2 139. 5/ 0.04
11H7H 2 19.6 W18 wt g <10 59 + 6.0, 59 0.04] 125V it WE 8.0 61 + 4.9 61 0.04
| HI 1/16H It 7. 3] Hite it HiE <5.9 8.6 + 1.8 8.6 0.04] lZ5SEHE (&N HUE <8.8 88 + 7.7 88| 0.04
5H9H [ 17.2] 12808 e g <7.9 46 + 4.8 46 0. 04 248 Eid WE 9.4 *+ 2.6, 10 + 7.8 119.4 0.04
16 e ST 8HATH It 31.2| (TSRS it HiE 4.8 56 =+ 4.0 56 0. 04 IR it Wt HH 6.1 =+ 1.7 84 + 4.9 90. 1 0.04
117160 [ 12,4 12 BViES wt g 7.3 30 + 4.1 30 0.04] R it T <1.2 63 + 5.2 63, 0.04
| 1A17H It 5.5 (CHNEE it HiE <8.3 42 + 5.5 42 0. 04 5] (&N HH <7.6 57 + 6.6 57| 0.04
5240 I 23.8 18 A BT 52 + 7.0 670 *+ 24, 722 0. 05 L) et e 28 + 5.1| 380 * 17 408 0.04
. B v 8/127H I 21.1 i) #k | e 21 + 4.6] 440 + 17] 467 0. 04 18 (LS 34 =+ 3.8 460 + 13 194] 0.05
111250 I 19.1 218 A BT 36 + 4.7 560 =+ 16 596] 0. 05 L) et WE 10 =+ 6.6] 1,800 + 25| 1,910 0.05
] - UI17H I 7.2 218 #k | e 31+ 5.3 400 + 17] 431 0. 04 ® (LS 30 + 1.8 470 + 17 500) 0.05
B 5H240 fif§ 26.2 A Mt | MR 52 + 5.3 740 * 18 792 0.04) (CsE | Bk | M 38 + 41| 530 + 13 568 0.05
18 i il P 8H27H It 23.3 i) it HiE 4.7 7.0 + 1.8 7.0 0.04] 25 (&N HUE 11 + 3.1 160 + 9.3 171 0.04
2}2 111250 I 18. 3| 218 A BH 20 + 3.5 310 * 12 330 0.04[ sty [ Mt WE 9.3 * 2.6 160 + 7.7|  169. 3] 0.04
| 1A17H It 9.1 i) it HiE 9.9 + 2.2 160 =+ 7.7 169. 9 0. 04 Esic) (&N HH 8.9 =+ 1.9 140 + 6.4 148.9 0.04
57210 ] 19. 4] 18 % BT 15+ 3.5 180 =+ 8.6 195 0. 05 218 Eid e 12+ 3.0 180 * 9.1 192] 0.06
. . 8/ 19H = 28.5 1 it g 9.1 + 2.2 93 + 6.6 102. 1 0. 04 5] (&N HH <5.2 32 + 4.0 32| 0.05
19 K o s 11450 [ 19.5 548 e g 9.3 28 + 4.4 28 0.05| 12501 it WE <. 1 9.3 + L9 9.3 0.04
151150 fit 11.0] (25 ot HUE 15 + 2.8 230 + 8.4 245 0. 04 IR it (&N HH 4.2 9.1 + 1.8 9.1 0.04
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JR30ERBE (L4, 22 R )
REHL - EE T

RIA NS (X\uéﬂ? S B EE [Ba/ke (#)] P HURPEMEBLE [Ba/ke (D) ] - s

. i e [ il S| R AT~ 7 A S| e | R BT~ 7 5 e
Cs-134 Cs-137 48 Cs-134 Cs-137 &#t

5198 2 24,1 ICRVER i HE 20 + 210 =+ 11 230 0.04[ (Z5V iR i HE 24 + 4.1] 200 + 14 314] 0.04
; . o 8A27H I 29.2| (CHEVEHE | Bk | M 17+ 220 + 13 237 0. 05 ] Wt | S 9.7 * 2.7 120 * 9.6]  129.7 0.04
2 K MR it 11150 it 19. 1] ICHNETS Wt ey 8.5 73+ 5.1 73 0. 04, ] (LS HE 1+ 4.4 270 + 16 284 0.04
] 11150 I 12.9) 18 et BH 12 + 2.4 180 + 8.0) 192 0.04 548 et WE 21 + 3.6| 340 + 11 361 0.04
5/120A 2 22,1 ICRVER i WE 8.5 + 2.2| 110 * 5.8 118.5 0.05| R e E 30 + 3.3] 390 * 11 120 0.06
2 Il T T 8H19H L 30,3 IZ VS 3 g;g 13+ 2.7 210 =+ 9. 5] 223 0.05] 25V EHE e %E 22 * 3.5 360 + 13 382 0. 06}
11J16R it 13.3] ICHNHS LS Ly 12+ 3.1 120 + 8.3 132 0.05 B8 i B 1.1 86 + 6.8 86, 0.04
| 551 1150 I 9.1 IRt et | <1.8 110 =+ 7.6 110 0.05| {zsvits | gk | SR 9.3 + 2.6] 140 * 8.2|  149.3] 0.04
5/13H it 23.5| ICSWVEE LS ey <1.4 4+ 5.6 14 0. 05 # Mt HH <6.8 66 + 5.4 66, 0.04
o . 8H27TH 2 29.6] IHZVEEE A H 5.5 16 + 2.5 16 0.04 i) it WE <. 1 53 + 3.6 53, 0.04
= S Mt - DR 7 11J116H it 20.5) IS0 LS W <6.8 23 + 3.2] 23 0.04 Iz 5V (LS HH 8.5 38 + 4.5 38, 0.04
] 117H I 9.1 ICEVHEW | Mt H 6.8 54 + 5.2 54 0.04 i) it W <6.9 45 + 4.1 45, 0.04
5/120A i 23.7 RS F e 8.2 + 2.2 86 + 6.0, 94.2 0.04] Iz SV i Ei 0 + 2.8 120 * 7.0 130 0.04
2 1| pi sy 8H19H 2 31. 3] Rﬁ%&: fv‘ikj: i;%E 7.3 + 2.1 94 + 7.5 101.3 0. 05) f%m 1:?&1 %E 19 + 4.2 310 + 14 329) 0.04
1116H it 16.6 B8 Wt E 6.5 *+ 2.0 61 + 4.8 67.5 0. 05 ] (LS HE 13+ 3.0] 170+ 8.1 183 0.04
| 1150 I 8.2 18 et | 1.1 49 * 4.5 49 0. 04 18 Wt | R 10 + 2.9 150 * 8.0 160! 0.04
5/120A 2 20,7 IZHRVER i HE 28 + 3.9 280 + 12| 308 0.04] (Z5V iR i HE 28 + 5.7 390 * 18 118 0.05
2 et R ROk 8H19H 2 26.2 18 fv‘ikj: i;%E 55 + 5.8 840 + 21 895) 0. 04 %f% 1:?&1 %E 15+ 4.0) 160 + 11 175 0.04
5 11150 i 16. 4] # wk | e 21 + 4.7] 340 + 15| 361 0.04 [ Wt | 21 + 5.9 460 * 20 487, 0.05
| il 1150 I 5. 6| 1 et | 13+ 3.1 140 + 9.3 153 0. 05 £ et | SR 38 + 5.4 600 * 20 638 0.05
|k 5140 = 19.8] ICHNHES ki3 E 7.4 + 2.1 93 + 5.6]  100.4 0.04| =RV % B 6.7 67 + 5.2 67 0.04
il Tﬁ ke ot Skt etk 8H27TH L 26.8 18 Mt BH 16 + 3.9 260 =+ 11 276 0.04] 125V it WE 4.4 60 + 4.0 60, 0.04
n K 1150 fif 17.4] ICR0E | Bk | R 14+ 2.4 150 + 6.7 164 0. 04 # Bt | <6.3 40 * 3.9 40 0.04
S 117H I 11. 6] I 18) et BH 9.8 + 2.4 170 + 8.8 179.8 0.04 18 it W <6.2 50 + 4.9 50, 0.04
5/13H it 24.2 IR Wt ey <1.4 89 + 6.7, 89 0.05|  JKH (LS HH 10+ 2.6 120 + 7.0 130 0. 05
o 8A27H I 28.8 18 et | 5.9 + 1.8 81 =+ 5.2 86.9 0. 04 Wt | S 4.6+ 1. 4] 54 + 3.3 58.6 0.04
0 SR st it 11J116H it 14.3 1) Wt W <8.2 95 + 6.9 95 0. 04, et HH <17 81 + 6.1 81 0.04
] 117H I 6.1 (CHVHEWS | Mt BH 8.9 1+ 7.1 71 0.04 Mt WE <8.4 72+ 6.8 72, 0.04
5190 it 191 2BV i ey 17 + 3.6 210 + 12 227 0. 04, Wt HWH 8.9 + 2.9) 88 + 7.8 96.9 0.04
, . 8/127H 2 28.9 I 18) Mt BH 1+ 3.1 180 =+ 10 191 0. 04 et W 4.8 * 1. 4] 67 + 3.6 71.8 0.04
1 i e Mt - AT 11J116H it 17.2 1) Wt Ly <1.2 59 + 5.7 59 0. 04, et HE <1.1 73+ 5.6 73 0.04
| LAITH I 8.2 I 18) et | 17+ 3.6] 190 * 12 207 0. 04 ek | SE 8.9 54 + 5.9 54 0.04
28 [r— . aﬂzqa 2 21.0 ) m I 36+ 8.9 fuo + 24 fme 0.06 W HH 13 + 7] 180 & 12 193 0.06
| 1AG6H I 14.5 18 et | 17+ 5.4 300 * 16 317 0. 05 Wt | S 17+ 3.6] 260 + 10 277 0.05
2 - - aﬂzqa fi§ 2.2 mf%& W R 17 = 4.3 210 + .1'2 221 0.05 i E&E; <5.8 8.5 + 2.7 8.5 0.05
] - 11160 I 16. 6| ) et i;tE 6.4 + 2.1 110 + 6.3 1164 0.05 i) i W/E <4.5 12 + 2.3 12 0.05
30 [ el - 5190 2 24.1 2l i Ly 9.8 + 2.8 110 + 7.6) 119.8 0.04[ K i B 6.7 90 + 6.0 90, 0.04
] 11116 H I 20.5 218 et BH 14+ 3.1 190 + 9.3 204 0.05| RAV—7 | #ht WE <5.8 63 + 4.8 63, 0.04
a1 s Ly 5190 it 22.1 HBIK & W <5.1 8.7 + 2.2 8.7 0.04[ K i B <8.1 59 + 6.1 59 0.04
] 11116 H I 18.0) =48 et BH 7.2 83 + 5.5 83 0.04] R it W <6.9 69 + 5.6 69, 0.04
g 57100 it 24.6 fic) LS Ly <6.9 72 * 5.8 72 0.04 125V (LS B 9.3 = 2.7, 95 + 6.8 104. 3] 0. 05
e 8H8H I 33. 8 8 it o=y 9.5 + 2.6 130 + 7.4 139.5 0. 04 18 et HH 4.2 60 + 3.4 60! 0.04
¥ ’,’K‘ R KK AL 1119A it 13. 4] IR LS ey <10 76+ 6.5 76 0.05 1250 (LS HH <5.6 10+ 2.1 10 0.04
$ik 1A7RH [ 7.7 # Mt B 9.1 + 2.6 110 + 7.5 119.1 0.04] Iz 5\ i it BE <8.8 62 + 5.8 62, 0.04
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J D BREE (13, 22 MR )

REHL - EE T
RIA NS L S B EE [Ba/ke (#)] HURPEMEBLE [Ba/ke (D) ]
(c) " s e U . 2 B
. i e [ il S| R AT~ 7 A S| e | R BT~ 7 5 e
Cs-134 Cs-137 48 Cs-134 Cs-137 &#t
5/8H it 21.2 B8 & ey <8.4 74 * 7.2 74 0. 05 fiz] i B <8.6 13+ 3.2 13 0.04
- . 8ATH I 35.3| KBS Fa s 8.1 + 2.0 92 + 5.5 100.1 0.04] Iz5u ks e S <5.3 63 + 1.4 63 0.04
) ARAE THIERTAER 11A7A = 18.7 2l Wt wE 9.6 + 2.4 140 + 6.7, 149. 6 0.05| 1250 i (LS HE <5.8 50 + 4.4 50, 0.04
| 16A I 12.1 218 E BT 8.7 92 =+ 7.3 92 0. 04 218 i W 7.2 16+ 5.3 16 0.04
5/8H it 22.2) B8 & ey 8.7 53 =+ 6.1 53 0. 04, ] i B €9.3 76 + 7.1 76, 0.04
) i 8ATH T 38.0| KB E W 5.9 + L7 96 =+ 5.7 10L.9 0.04| =RV 1 E1 12+ 3.0 180 * 10 192] 0.04
o oA LI fifts 11A7R it 177 IS B0 LS Ly <5.6 51 + 4.3 51 0. 04, # et HE <11 120 + 7.6 120 0.05
| 1A16H I 10.1 18 et | .1 24 * 3.5 24 0. 04 18 Wt | R 9.2 * 2.9 140 * 8.6|  149.2] 0.04
5/8H it 235 ICHVED i ey <1.5 20 + 4.1 20 0.04] 125V i B <6.6 14 = 3.5 14 0.04
35 ol G 8HTH i 37.7] # 3 i;%E 4.4 + 1.4 45 + 3.8 49.4 0.04] 125V b3 WE 4.5 18 + 2.5 18] 0. 04
11A7R it 16.2] IC5UHTS LS W <6.6 17 = 2.8 17 0.04 Iz 5V (LS HH <5.0 17 * 2.6 17 0.04
| 1161 T 10.2[ R et | 4.9 18 + 2.4 18 0.04) (CsE | Bk | I <6.0 25 + 3.2 25 0.04
5/10H it 27.2| ISV LS ey <8.8 60 + 6.2] 60 0.04 125V (LS HE <1.5 26 + 1.6 26, 0.04
36 il e 8A8H I 31.1 I 18) et ﬁg <8.6 62 + 5.8 62 0.04| 2 EViktE | pt %E 6.7 35 + 3.6 35 0.04
11A7R it 14.8 1) Wt Ly <1.6 95 + 6.1 95 0. 04, # Mt HE <6.4 39 + 4.1 39, 0.04
] Il 11160 I 1LO| (250ds | Mt BH 6.5 49 + 4.8 49 0.04 lzsvigtd | it W 8.0 74+ 6.7 74, 0.04
iR 57100 it 28.5 2l Wt ey <1.8 67 + 6.7 67 0.04| 25V (LS HH 9.7 22 * 3.8 22 0. 05
. L 8H8H fi§ 35. 4 BV Wt HEE <7.9 110 =+ 7.6 110 0.04] (2 BEEE Wt HH 19 + 3. 2| 210 + 9.4 229! 0. 04
7 & | i K 1119R it 15.5 2l Wt wH 1+ 3.3 150 + 7.9) 161 0.04 Iz 5V (LS B 7.5 * 2.5 140 + 7.5 147. 5] 0.04
] e 1HTH 2 8.2 IcHVEHS | BH 9.5 + 3.0 160 + 9.7 169.5 0.04] lzsviEtd | it W <8.8 67 + 6.3 67, 0.04
5180 I 25.6 5] i HH 9.0 + 2.8 130 * 9.3]  139.0 0.04 [ i3 B <. 100 + 8.3 100 0.04
38 1l 8ATH I 39.8 Iz&u s Fa R 13 + 2.5 190 + 8.0) 203 0.04] Iz50 e U 14 + 2.6| 160 + 7.6 174 0.04
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i @ 18R h ' ) 9.5 42.5 - | 9.5 4 2.3] <0.59 <0. 81
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g LLA26H " 0 .3 7.0] 24. 3 - I 3 2.6 1 0.7] <0.64 €0.78
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N N 8H16 E:3 24.1 7.3 19.5 5 0.0 0.0 0.0 0.3 1.6 43. 9] 2.488] v <12 250 += 15| 250]
so| 1 |mosmope gy ) s Al6H ! 5 i :
P 10/3H = 21.2 6.9 18. 0| 5 0.0 0.0 0.0 0.0 0.5 36.5 2.547) v b 15 + 4. 5| 220 =+ 12] 235
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e 10H10H i 20.2 23. 0] 16.5 10 BIK 0.0 0.0 0.0 0.0 0.0 0.1 49.3 50. 6] 37.3 2.552] L b 16 + 4.1 290 =+ 15] 306
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12H18H it 12. 0| .5 10. 1 4] K 54 fit 0.0 0.0 0.0 0.1 0.1 19. 8| 59.7 20. 4| 57. 4] 2. 629 i 12 + 2. 6] 130 =+ 6. 9| 142]
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5H9R il 19.2 1.8 20. 4| 10 L) fik 0.0 0.0 0.0 0.1 5.7 4.2 42. 0] 48. 0] 18. 0| 2.418] bk 28 + 8. 9| 300 =+ 24 328
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